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EXTENDING THE NUMBER SYSTEM
Lesson 2: Operating with Polynomials

NAME:

Assessment

CCGPS Analytic Geometry Teacher Resource © Walch Education
U4-33

Circle the letter of the best answer.

1. What is the result of (4x – 8) + (x + 16)?

a. 4x + 8

b. 5x + 8

c. 4x + 24

d. 5x + 16

2. What is the result of (–2x3 + x) + (3x – 6)?

a. –6x – 6

b. –2x3 – 6

c. –2x3 + 4x

d. –2x3 + 4x – 6

3. What is the result of (x2 – 10x) – (–5x2 + x)?

a. –4x2 – 9x

b. –4x2 – 11x

c. 6x2 + 9x

d. 6x2 – 11x

4. What is the result of (–x + 2)(x + 3)?

a. –x2 – x + 6

b. x2 + 5x + 6

c. –x2 + 6

d. x2 – 6

5. What is the result of (x2 + 1)(–x3 – 4x + 2)?

a. x x x x5 3 25 2 4 2− + + +

b. − − + − +x x x x5 3 25 2 4 2

c. − − +x x x4 3 24 2

d. − − + +x x x6 4 24 2 2
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RELATIONSHIPS BETWEEN QUANTITIES
Lesson 1: Interpreting Structure in Expressions
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Assessment
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U1-1

Pre-Assessment
Circle the letter of the best answer.

1. How many terms are in the expression 36x3 + 27x2 – 18x – 9?

a. 3

b. 7

c. 4

d. 9

2. What are the factors in the expression 11x2 + 7x – 4?  

a. 11 and x2, 7 and x

b. 11 and 7

c. There aren’t any factors in this expression.

d.  x

3.  What are the term(s), coefficient, and constant described by the phrase, “the cost of 4 tickets to 
the football game, t, and a service charge of $10”?

a. term: 4t, coefficient: 4, constant: 10

b. terms: 4t and 10, coefficient: 10, constant: 4

c. term: 14t, coefficient: 14, constant: none

d. terms: 4t and 10, coefficient: 4, constant: 10
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Radicals Practice Test 

 
Multiple Choice  
Identify the choice that best completes the statement or answers the question. 

 1. Which of the following is a square root of 196? 
A. 98 
B. -14 
C. 392 
D. 16 
 

 
 2. Between what two consecutive whole numbers 

does  lie? 

A. 4 and 5 

B. 6 and 7 

C. 5 and 6 
D. 7 and 8 
 

 
 3. Subtract.   
 

A.  
B.  
C.  
D.  
 

 
 4. Find the square root.   

A. –8 
B. 32 
C. 8 
D. 4096 
 

 
 5. Evaluate  

A. -  
B. -7  
C.  
D. already simplified 

 
 

 
 6. Find the perimeter of a triangle whose side lengths 

are 15 cm,  cm, and  cm. Give the 
answer as a radical expression in simplest form. 

 
A. ( ) cm 

B. ( ) cm 
C. ( ) cm 
D.  cm 
 

 
 7. Simplify the expression . 

A.  
B.  
C.  

D.  
 

 
 8. Simplify the expression 

. 
A.  
B.  
C.  
D.  
 

 
 9. Simplify the expression . 

A.  
B.  
C.  
D.  
 

 
 10. Simplify the expression 

. 
A.  
B.  
C.  
D.  
 

 
 11. Multiply. Write the product in simplest form. 

 

 

A.  

B. 2 6  + 2 7  
C. 26  
D. 2 3  + 14  
 

 
 12. Multiply. Write the product in simplest form. 

 

 

A. 9 3  + 18 2  
B. 3 11  
C.  
D. 3 3  + 6 2  
 

 
 13. The area of a square garden is 173 square feet. 

Estimate the side length of the garden. 
 

A. 16 ft 
B. 11 ft 
C. 15 ft 
D. 13 ft 
 

 
 14. The area of a square garden is 85 square meters. 

Estimate the side length of the garden. 
 

A. 9 m 
B. 7 m 
C. 11 m 
D. 12 m 
 

 

 15. Simplify . 

A. 
 

B. 
 

C. 
 

D. 
 

 

 

 16. Simplify . 

A. 
 

B. 
 

C. 
 

D. 
 

 

 
 17. Between what two consecutive whole numbers 

does  lie? 

A. 13 and 14 

B. 14 and 15 

C. 15 and 16 
 

D. 199 and 201 
 

 
 18. Multiply. Write the product in simplest form. 

 
 

 
A.  
B. 

 

C.  

D.  
 

 
 19. Multiply. Write the product in simplest form. 

 
 

 
A.  

B. 
 

C.  

D.  
 

 

 20. Simplify the quotient  

B. 2 6  + 2 7  
C. 26  
D. 2 3  + 14  
 

 
 12. Multiply. Write the product in simplest form. 

 

 

A. 9 3  + 18 2  
B. 3 11  
C.  
D. 3 3  + 6 2  
 

 
 13. The area of a square garden is 173 square feet. 

Estimate the side length of the garden. 
 

A. 16 ft 
B. 11 ft 
C. 15 ft 
D. 13 ft 
 

 
 14. The area of a square garden is 85 square meters. 

Estimate the side length of the garden. 
 

A. 9 m 
B. 7 m 
C. 11 m 
D. 12 m 
 

 

 15. Simplify . 

A. 
 

B. 
 

C. 
 

D. 
 

 

 

 16. Simplify . 

A. 
 

B. 
 

C. 
 

D. 
 

 

 
 17. Between what two consecutive whole numbers 

does  lie? 

A. 13 and 14 

B. 14 and 15 

C. 15 and 16 
 

D. 199 and 201 
 

 
 18. Multiply. Write the product in simplest form. 

 
 

 
A.  
B. 

 

C.  

D.  
 

 
 19. Multiply. Write the product in simplest form. 

 
 

 
A.  

B. 
 

C.  

D.  
 

 

 20. Simplify the quotient  
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A.  
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C.  
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A.  
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A.  
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14.(((Identify(an(irrational(number.(
( a.(49(
( b.(√24(
( c.(√169(
( d.(2.5(
(

15.(Which(of(the(following(is(simultaneously(a(natural(number,(a(whole(number,(a(
rational(number(and(an(integer?(
( a.(I13( ((
( b.((I9.5( ((
( c.((57( ((
( d.((√36( ((
(
(
16.((Is(the(sum(of(two(rational(numbers(rational(or(irrational?(Explain.(
(
(
(
(
17.(Is(the(product(of(an(irrational(and(a(rational(number(rational(or(irrational?(
Explain.(
(
(
18.(Convert(459L(to(milliliter.(Show(all(of(your(work.(
(
(
19.(Convert($25(to(dimes.(Show(all(of(your(work.(
(
(
(
20.(Convert(10(weeks(into(minutes.(Show(all(of(your(work.((


